
48001591
Checklist / Manual de Montagem - P.Choques 
dianteiro P/base guincho AFN VW Amarok

Checklist / Fitting Instructions - Metal 
Bumper for VW Amarok with AFN Winch plate 
fitted - VW Amarok

Despiezas / Instrucciones de montaje -  

2h x 2

x1

48002192

1 x1

48002191

2 x1

48002121

3 x1

47001644

4

x1

47001641

5 x2

47001152

6 x1

46005518

7 x1

46004031

8

x1

46004030

9 x1

46004029

10 x1

46004028

11 x1

46003575

12

x1

46003574

13 x1

46006126

14 x14

45000775

15

Prf. Cab. Red. M6x20

x2

45000110

16

Prf. Cb. Con. M10x25

x14

45000074

17

Fêmea Freiada M6

x8

45000067

18

Prf. Cb. Sx. M12X35

x22

45000066

19

Fêmea Freiada M12

x10

45000050

20

Anilha M6x15x1,6

x10

45000044

21

Anilha aba larga M6

x40

45000042

22

Anilha M12

x14

45000037

23

Prf. Cb. Sx. M12x30

x4

45000036

24

Anilha Aba Larga M12

x4

45000011

25

Anilha aba larga M8

x4

45000008

26

Prf. Cb. Sx. M8x30

x2

45000502

27

 Borracha vedação

Volkswagen  VW 
Amarok (2010- )

Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt1/7 07-01-2016



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt2/7 07-01-2016



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt3/7 07-01-2016



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt4/7 07-01-2016



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt5/7 07-01-2016



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt6/7 07-01-2016



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt7/7 07-01-2016


